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1. Determin if the function is one-to-one.
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2. Show that the function is one-to-one and find the inverse.

(a) f(2) = = frd P invarse

3r+5

Qw' ,"(M’*'NB “Y)tiga _'__'__'LY

p T iy
Fle)= 4D "
|- 44 _ ﬂﬁ Y= l’q)
3445 1132 3

g_‘_&l" S""" ‘c’,.

(1-46) [sb15)> (-ubY (3e45)

3h1-1265-200 s qpSRazab | o -

3""205 z da -2\)! 3"7 1% = |—l/?

3y #lfy = [ -Sx

23) = 234
b J y (3x14) = -5k
T A
" =Y = |"§)‘
s BRI FI 5 )=Y =
—

£ = ¢ ORI
{ ”3 O
T\ =D
P

Mar 27-2:20 PM




2. Show that the function is one-to-one and find the inverse.
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3. Assume that the function f is a one-to-one function with inverse g. Compute

a formula for g’(:nlll based on f.
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4. If g is the inverse of the function f, compute g'(2).

flz)=a2° — 23 + 2z ,FI\{\ c §xq*b<z+2
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5. If g is the inverse of the function f, compute g'(6).
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6. Evaluate: 4210849 = q 7.‘ -
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7. Find the domain of this function.
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8. Use the fact that log, 2 = 0.38, log, 3 = 0.63, and log, 5 = 0.88 to compute
these logarithms.

(a) log, 20 = ',;‘lf-f e /o"v + /7.5’
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9. Solve for x.
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(¢) log(x —2) + log(x +4) = log7
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(d) log, (6 — 5) = 2 %
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(e) log,;
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For problem 10-16, find the derivatives of these functions.

10. Yy = logr,(T _ 4_.];) + 35:-3(:(.1:)
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11. y = [In(z* + bz)]
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13. y = 7 log(z* + 1)
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